Maih2210 Midierm 2 Summer, 2010 Dylan 7wick
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Instructions: Please show all of yvour work gs parfial credit will be given where
appropriaie, and there may e no credit given for problems where there s no work
shown, All answers should be completely simpiified. uniess olherwise staled.
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2. {25 pis] Show thol the sum‘aﬁ dv =0 and T Gz T=0 are
tangent to each other af [0-1.2): that s, show that they havm he same %‘ongen
plane ot [0.-1.72].

Tdﬁieﬁ“{' olane of Xz%i‘"’/# 2t s
(2 X 9 22) [’X-‘-O;, vl 2:2)
<‘§; 1,4y (x yil, e-2) =
Yy+d+4z2-5= 0O
frefe=g o semlye=]]
To{i’(7e/i+ /7!62/719 f}ﬁ }(L+\/ngl,(%47_:6?
Cox, by, 22=6) al (4-173)
(o, -1,-10- X, yil, 2-2) =0

~ly -1 -let4 =0
wly‘_z—%?«?“ i

YT%:)!

Tqafszml /ﬂ/q,@e%w Foth X /X/f% =/,




3. {10 pts) Describe the largest set Sonwhich  /{x, y, 2'}:\;{% —x =

confinuous.
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(25 pis) Find aff critical points for  (x, yj=xy ~6x 3y~ . Determine whether
each ooint is @ minimum, maximum or saddle point.
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Criticat point(s} (Specify whether they're min, max or saddie )
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4. For  f{x,yi=2e cos{Ix) .
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(b} {15 pts) Find the equation of the tangent plane at - {11/3,0) .
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7. 120 pisy Use the folal dfferenticl & 1o Opp?@)ﬁfﬂ@fe the change in z as {x. v}
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. [Your answer must be only in ferms of s and 7.
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9 Eind the limit, if it exists. (Show all your reasoning ]
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